data one;
input id name$ gender$ income:

cards;

1 Lee m 270
2 Kim f

3 Cho m 300
4 Lee f 330

5 Min m 280
run;

proc print data=one; /* data onell K& = «/

run;
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data onel;

input id name$ gender$ income @@; /+x B =MUZ A +/
cards;

1 Lee m 270 2 Kim f . 3 Cho m 300

4 Lee f 330 5 Min m 280

run;

proc print data=onefl;

run;

data two;
input id name$ age gender$ income;

cards;

1 Lee 45 m 270
2 Kim 40 f 250

3 Cho 35 m 300
4 Lee 40 f

5 Min 45 m 280
run;

proc means data=two maxdec=2; /*EzZ, A2=&O0|5t FAtel*/
var age income; /*Lt0l, =& H«/

run;

/[* 5o SEAE +XHoZ HES 0] Il SHE & O «+/
proc univariate data=two ;

var age income; /xLtOl, =20l CHEH SH EF+/

run;

B2lg 240l
'd:/studentl .txt' &0l
data student?;
infile 'd:/student1.txt' firstobs=2;/* 2HMEZERE LHL2I| */
input id name$ gender$ score;
run;
proc print data=student2;
run;

(1) b= AR

data three;

input name$ age gender$ income;
income2=income+20;/* income2ct= B8 2UHS0H at2 incomet+202 2 +/
cards;

Lee 27 m 170

Kim 31 f 260

Cho 25 m 190

Lee 31 f 240

run;

proc print data=three;

run;



(2) HI L HAAX
data four;

input name$ age gender$ income;

if income <200 then grp=1; /*2t2F income<200 O|H,

2 */

else grp=2; /* OtLIH, grpcte HEE ot
cards;

Lee 27 m 170

Kim 31 f 260

Cho 25 m 190

Lee 31 f 240

run;

proc print data=four;

run;
data five;
input name$ age gender$ income;

if income <200 then grp='small'; /*B+ef

=

= ‘small&. */

else grp='big";

cards;

Lee 27 m 170

Kim 31 f 260

Cho 25 m 190

Lee 31 f 240

run;

proc print data=five;

run;

SAS &=

1) A==

data six;

input x @@;

y=log(x); /* yet= BIE S0, a2
z=x**2; [* z2l= BH4E OS¢, a2
cards;

123

run;

proc print data=six;

2)&t ek
data seven;

input xX@@;

y=sin(x); /*&2= radian(pi*2t&=/180) */
cards;

013.14

run;

proc print data=seven; run.

S0 0gts 22+/

income<200 0|, grpcle HE
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